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BSEH Practice Paper (March 2024) 

CLASS: 12th (Sr. Secondary)       Code: B 

Roll No. 

 

रसायन ͪव£ान 

CHEMISTRY 

[Hindi and English Medium] 

ACADEMIC / OPEN 

[Time allowed: 3 hours]     [Maximum Marks: 70] 

________________________________________________________ 

 कृपया सुǓनिæचत करɅ ͩक इस Ĥæन पğ मɅ मुǑġत पçृठ संÉया मɅ 21 हɇ 
और इसमɅ 35 Ĥæन हɇ। 
Please make sure that the printed pages in this question 
paper are 21 in number and it contains 35 questions. 

 Ĥæन पğ के दाɃ ओर Ǒदए गए कोड नàबर को छाğ ɮवारा उƣर-पुिèतका 
के पहले पçृठ पर ͧलखा जाना चाǑहए। 
The Code No. on the right side of the question paper should 
be written by the candidate on the front page of the answer-
book. 

 ͩकसी Ĥæन का उƣर देना शुǾ करने स ेपहले उसका Đमांक ͧलखना होगा। 
Before beginning to answer a question, its Serial Number 
must be written. 
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 अपनी उƣर पुिèतका मɅ खालȣ पÛना/पÛन ेन छोड़Ʌ। 
Don’t leave blank page/pages in your answer-book. 

 उƣर-पुिèतका के अǓतǐरÈत  कोई अÛय शीट नहȣं दȣ जाएगी। अतः 
आवæयकतानुसार हȣ ͧलखɅ व ͧलख ेउƣर को न काटɅ। 
Except answer-book, no extra sheet will be given. Write to 
the point and do not strike the written answer. 

 परȣ¢ाथȸ अपना रोल नंबर Ĥæन पğ पर अवæय ͧलखɅ। 
Candidates must write their Roll Number on the question 
paper. 

 कृपया Ĥæनɉ का उƣर देने से पूव[ यह सुǓनिæचत कर लɅ ͩक Ĥæनपğ पूण[ 
व सहȣ है, परȣ¢ा के उपरांत इस संबंध मɅ कोई भी दावा èवीकार नहȣ ंͩकया 
जाएगा। 
Before answering the questions, ensure that you have been 
supplied the correct and complete question paper, no claim 
in this regard, will be entertained after examination. 

________________________________________________________ 

सामाÛय Ǔनदȶश:  

 (i) सभी Ĥæन अǓनवाय[ हɇ। 

 (ii) वèतुǓनçठ Ĥæनɉ के सहȣ ͪवकãप ͧलखɅ। 

(iii) Ĥ×येक Ĥæन के अंक उसके सामने दशा[ए गए हɇ। 

General Instructions:  

 (i) All questions are compulsory. 

 (ii) Write the correct option in objective type questions. 
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 (iii) Marks of each question are indicated against it. 

________________________________________________________  

1. Which of the following is often used to express the 

concentration of pollutants in water or air?    1 

a) mg/mL 

b) ppb 

c) μg/mL 

d) mol L-1 

Ǔनàनͧलͨखत मɅ से ͩकसका उपयोग अÈसर पानी या वाय ुमɅ Ĥदषूकɉ कȧ 

सांġता को åयÈत करन ेके ͧलए ͩकया जाता है?   

a) mg/mL 

b) ppb 

c) μg/mL 

d) mol L-1 

2. The osmotic pressure of fluid inside human blood cell is 

equivalent to that of:        1 

a) 9.0% (mass/volume) NaCl 

b) 0.9% (mass/volume) NaCl 

c) 1.9% (mass/volume) NaCl 

d) None of these 

मानव रÈत कोͧशका के अंदर ġव का परासरण दाब ͩकसके तãुयांक होता 

है? 

a) 9.0% (ġåयमान/आयतन) NaCl 

b) 0.9% (ġåयमान/आयतन) NaCl 

c) 1.9% (ġåयमान/आयतन) NaCl 
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d) इनमे से कोई नहȣं  

3. In a Galvanic cell, the half-cell in which oxidation takes place 

is called:          1 

a) Cathode 

b) Anode 

c) Electrolyte 

d) Salt bridge 

गैãवैनी सेल का अध[ सेल िजसमɅ ऑÈसीकरण होता है उसे कहा जाता है: 

a) कैथोड 

b) ऐनोड 

c) वɮैयुतअपघɪय 

d) लवण सेतु 

4. Which of the following is a unit of rate of reaction?  1 

a) mol L-1 

b) mol L s-1 

c) mol L-1s-1 

d) s-1 

Ǔनàनͧलͨखत मɅ स ेÈया अͧभͩĐया वेग कȧ एक इकाई है?   

a) mol L-1 

b) mol L s-1 

c) mol L-1s-1 

d) s-1 

5. Which of the following is not a transition element?  1 

a) Au 

b) Ag 
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c) Zn 

d) Cu 

Ǔनàनͧलͨखत मɅ स ेकौन सा सĐंमण त×व नहȣ ंहै? 

a) Au 

b) Ag 

c) Zn 

d) Cu 

6. What is obtained from pyrolusite ore?    1 

a) KMnO4 

b) K2Cr2O7 

c) KNO3 

d) Na2Cr2O7 

पाइरोलुसाइट अयèक से Èया ĤाÜत होता है? 

a) KMnO4 

b) K2Cr2O7 

c) KNO3 

d) Na2Cr2O7 

7. What is secondary valency of CoCl3.4NH3 if its one mole 

reacts with excess AgNO3 to give one mole of AgCl? 1 

a) 3 

b) 4 

c) 5 

d) 6 
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CoCl3.4NH3 कȧ ɮͪवतीयक संयोजकता Èया है यǑद इसका एक मोल 

आͬधÈय AgNO3 के साथ ĤǓतͩĐया करके AgCl का एक मोल देता है? 

a) 3 

b) 4 

c) 5 

d) 6 

8. Which of the following is effective in inhibiting growth of 

tumours?          1  

a) Dimethylglyoxime 

b) cis-platin 
c) α–nitroso––naphthol 

d) cupron 

Ǔनàनͧलͨखत मɅ स ेकौन ɪयूमर कȧ वɮृͬध को रोकने मɅ Ĥभावी है? 

a) डाइमेͬ थलÊलाईऑÈसीम 

b) समप¢-ÜलेǑटन   

c) α–नाइĚोसो––नāेथॉल 

d) Èयपूफेरॉन 

9. Which of the following is allylic halide?    1 

a) Bromomethane 

b) Bromoethene 

c) 3-Chloropropene 

d) None of the above 

Ǔनàनͧलͨखत मɅ स ेकौन सा ऐͧलͧलक हैलाइड है? 

a) Ħोमोमेथेन  
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b) Ħोमोएथीन 

c) 3-ÈलोरोĤोपेन  

d) उपयु[Èत मɅ से कोई नहȣं   

10.  What is carbolic acid?       1 

a) Acetic acid 

b) Acetone 

c) Phenol 

d) Acetaldehyde 

काबȾͧलक अàल Èया है? 

a) ऐसीǑटक अàल   

b) ऐसीटोन  

c) फ़ȧनॉल 

d) ऐसीटैिãडहाइड 

11. Which of the following is major product for nitration anisole?

            1 

a) 2-Nitroanisole 

b) 3-Nitroanisole 

c) 4-Nitroanisole 

d) None of the above 

Ǔनàनͧलͨखत मɅ स ेऐǓनसोल के नाइĚोकरण का कौन सा Ĥमुख उ×पाद है? 

a) 2-नाइĚोऐǓनसोल 

b) 3-नाइĚोऐǓनसोल 

c) 4-नाइĚोऐǓनसोल 

d) ऊपयु[Èत मɅ स ेकोई नहȣ ं
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12. What is the monomer of cellulose?     1 

a) α-D-Glucose 

b) β-D-Glucose 

c) α-D-Fructose 

d) β-D-Fructose 

सलेलुोस कȧ इकाई Èया है? 

a) α-D-Êलूकोस 

b) β-D-Êलकूोस 

c) α-D-ĥÈटोज़ 

d) β-D-ĥÈटोज़ 

13. How many amino acids are present in insulin?   1 

a) 51 

b) 52 

c) 53 

d) 54 

इंसुͧलन मɅ ͩकतन ेऐमीनो अàल मौजूद होत ेहɇ?  

a) 51 

b) 52  

c) 53  

d) 54 

14. Which of the following is not fat soluble?    1 

a) Vitamin A 

b) Vitamin C 

c) Vitamin E 



BSEH Practice Paper Class: XII March-2024 

9 
Chemistry  Code: B
  

d) Vitamin K 

Ǔनàनͧलͨखत मɅ स ेकौन वसा मɅ घुलनशील नहȣ ंहै? 

a) ͪवटाͧमन A 

b) ͪवटाͧमन C 

c) ͪवटाͧमन E 

d) ͪवटाͧमन K 

15. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Mercury cell is a primary cell. 

Reason (R): In primary battery reaction occurs only once and 

cannot be reused again.  

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): मÈयू[रȣ सेल एक Ĥाथͧमक सेल है। 

कारण (R): Ĥाथͧमक बैटरȣ मɅ ĤǓतͩĐया केवल एक बार होती है और ͩफर 

स ेपुन: उपयोग नहȣ ंकȧ जा सकती है। 
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a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

c) A स×य है परंतु R अस×य है। 

d) A अस×य है परंतु R स×य है। 

16. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Half-life of a first order reaction is variable. 

Reason (R): For first order reaction, half-life is independent of 

initial concentration of reactant.  

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): Ĥथम कोǑट कȧ अͧभͩĐया कȧ अधा[य ुिèथरांक है। 

कारण (R): Ĥथम कोǑट कȧ अͧभͩĐया कȧ अधा[य,ु अͧभͩĐयक कȧ Ĥारिàभक 

सांġता पर Ǔनभ[र नहȣ ंकरती है।  

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  
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c) A स×य है परंतु R अस×य है। 

d) A अस×य है परंतु R स×य है। 

17. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Aldehydes are more reactive than ketones 

towards nucleophilic addition reactions. 

Reason (R): Aldehydes give positive Tollen’s test. 

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): ऐिãडहाइड नाͧभकरागी योगज अͧभͩĐयाओ ंमɅ कȧटोनɉ कȧ 

अपे¢ा अͬधक अͧभͩĐयाशील होते हɇ। 

कारण (R): ऐिãडहाइड सकारा×मक टॉलेन-परȣ¢ण देते हɇ। 

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

c) A स×य है परंतु R अस×य है। 

d) A अस×य है परंतु R स×य है। 
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18. The question below consists of two statements: Assertion (A) 

and Reason (R), answer the question by selecting the 

appropriate option given below.      1 

Assertion (A): Carbylamine reaction is shown by secondary 

amines. 

Reason (R): Carbylamines are foul smelling substances. 

a) Both A and R are true, and R is the correct explanation 

of A.  

b) Both A and R are true, and R is not the correct explanation 

of A.   

c) A is true but R is false.  

d) A is false but R is true. 

Ǔनàनͧलͨखत Ĥæन मɅ दो कथन है: अͧभकथन (A) और कारण (R), Ĥæन 

के नीचे Ǒदये गए उपयुÈत ͪवकãप का चयन करत ेहुए उƣर दȣिजए।  

अͧभकथन (A): काǒब[लऐमीन अͧभͩĐया, ɮͪवतǓयक ऐमीनɉ ɮवारा दशा[ई 

जाती है।  

कारण (R): काǒब[लऐमीन दगुɍधयुÈत पदाथ[ हɇ। 

a) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया है। 

b) A व R दोनɉ स×य हɇ तथा R, A कȧ सहȣ åयाखया नहȣ ंहै।  

c) A स×य है परंतु R अस×य है। 

d) A अस×य है परंतु R स×य है। 

19. Define colligative properties. Give two examples.  2 

अणुसÉंय गुणधम[ को पǐरभाͪषत करɅ। दो उदाहरण दȣिजए। 
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20. The conductivity of 0.20 M solution of KCl at 298 K is 0.0248 

S cm–1. Calculate its molar conductivity.    2 

298 K पर 0.20 M KCl ͪवलयन कȧ चालकता 0.0248 S cm-1 है। 

इसकȧ मोलर चालकता का पǐरकलन कȧिजए।  

Or 

अथवा 

How much electricity in term of Faraday is required to produce 

40 g of Al from molten Al2O3?       2 

गͧलत Al2O3 से 40 Ēाम Al का उ×पादन करन ेके ͧलए ͩकतने फैराड े

ͪवɮयुत कȧ आवæयकता होगी?  

21. List the factors affecting the rate of reaction.   2 

रासायǓनक अͧभͩĐया के वेग को Ĥभाͪवत करन ेवाले कारकɉ कȧ सूची 

बनाइए।  

22. Which metal in the first series of transition metals exhibits 

+1 oxidation state most frequently and why?   2 

सĐंमण धातुओ ंकȧ पहलȣ Įृंखला मɅ कौन सी धातु बहुधा +1 ऑÈसीकरण 

अवèथा Ĥदͧश[त करती है और Èयɉ?    

23. Write increasing order of reactivity four isomers of 

bromobutane for SN2 reaction.      2 

SN2 अͧभͩĐया के ͧ लए ĦोमोÞयूटेन के चार समावयवɉ कȧ अͧभͩĐयाशीलता 

का बढ़ता Đम ͧलͨखए। 

24. What is decarboxylation? Give an example.    2 

ͪवकाबȾिÈसलन Èया है? एक उदाहरण दȣिजए।  

Or 

अथवा 
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What is cyanohydrin? Give an example of reaction.   2 

सायनोहाइͫĜन Èया है? अͧभͩĐया का एक उदाहरण दȣिजए।  

25. Arrange the following in increasing order of basic strength: 

            2 

Ǔनàनͧलͨखत को ¢ारकȧय Ĥाबãय के बढ़ते Đम मɅ ͧलͨखए:   

i) Aniline, p-nitroaniline and p-toluidine 
ऐǓनलȣन, पैरा-नाइĚोऐǓनलȣन एव ंपैरा-टॉलूडीन  

ii) C2H5NH2, (C2H5)2NH, (C2H5)3N and NH3 (in gas phase) 

C2H5NH2, (C2H5)2NH, (C2H5)3N एव ंNH3 (गैस अवèथा मɅ) 

26. Differentiate between two types of non-ideal solutions. 3 

 दो Ĥकार के अनादश[ ͪवलयनɉ के बीच अतंर करɅ। 

27. For a first order reaction, show that time required for 99% 

completion is twice the time required for the completion of 

90% of reaction.        3  

दशा[इए ͩक Ĥथम कोǑट कȧ अͧभͩĐया मɅ 99% पूण[ होने मɅ लगा समय 

90% अͧभͩĐया पूण[ होने वाले समय स ेदगुुना होता है।  

Or 

अथवा  

Derive an integrated rate equation for a zero-order reaction.  

            3 

शÛूय-कोǑट कȧ एक अͧभͩĐया के ͧलए एक समाकͧलत वेग समीकरण का 

åय×ुपÛन कȧिजए। 

28. Explain with at least three reasons why transition metals act 

as good catalyst.        3 
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कम स ेकम तीन कारणɉ से समझाइए ͩक सĐंमण धातुए ँअÍछे उ×Ĥेरक 

के Ǿप मɅ Èयɉ काय[ करती हɇ। 

29. Give the uses of freon 12, carbon tetrachloride and iodoform.

            3 

ĥेओन-12, काब[न टेĚाÈलोराइड और आयोडोफाम[ के उपयोग बताइए। 

30. Give the structures of A, B and C in the following reactions:

            3  

Ǔनàनͧलͨखत अͧभͩĐयाओ ंमɅ A, B और C कȧ संरचना दȣिजए: 

i) 𝐶𝐻ଷ𝐶𝐻ଶ𝐵𝑟
         ௄஼ே       
ሱ⎯⎯⎯⎯⎯⎯⎯ሮ 𝐴

       ௅௜஺௟ுర        
ሱ⎯⎯⎯⎯⎯⎯⎯⎯ሮ 𝐵 

          ுேைమ       
ሱ⎯⎯⎯⎯⎯⎯⎯⎯ሮ

଴℃
𝐶 

ii) 𝐶଺𝐻ହ𝑁𝑂ଶ

     ி௘/ு஼௟       
ሱ⎯⎯⎯⎯⎯⎯⎯⎯ሮ 𝐴

   ே௔ேைమାு஼   
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ

ଶ଻ଷ௄
𝐵 

        ுమை/ுశ   
ሱ⎯⎯⎯⎯⎯⎯⎯⎯ሮ

∆
𝐶 

Or  

अथवा  

Give plausible explanation for each of the following:   3  

Ǔनàनͧलͨखत मɅ Ĥ×येक का संभाͪवत कारण बताइए: 

i) Ethylamine is soluble in water whereas aniline is not.  

ऐͬथलऐͧमन जल मɅ ͪवलेय है जबͩक ऐǓनलȣन नहȣं।  

ii) Aniline does not undergo Friedel-Crafts reaction. 

ऐǓनलȣन ͩŉडले ĐाÝɪस अͧभͩĐया Ĥदͧश[त नहȣं करती है।  

iii) Gabriel phthalimide synthesis is preferred for 

synthesising primary amines. 

Ĥाथͧमक ऐमीन के सæंलेषण मɅ गǒैĦएल थैͧ लमाइड संæलेषण को 

Ĥाथͧमकता दȣ जाती है।  

31. Read the passage given below and answer the following 

questions: 

नीच ेǑदए गए गɮयाशं को पढ़Ʌ और Ǔनàनͧलͨखत Ĥæनɉ के उƣर दɅ: 
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A compound (A) containing C, H and O is unreactive towards 

sodium. It also does not react with Schiff’s reagent. On 

refluxing with an excess of hydroiodic acid, (A) yields only 

one organic product (B). On hydrolysis, (B) yields a new 

compound (C) which can be converted into (B) by reaction 

with red phosphorous and iodine. The compound (C) on 

oxidation with potassium permanganate gives a carboxylic acid 

(D). The equivalent weight of this acid is 60. 

C, H और O यÈुत यौͬगक (A) सोͫडयम के ĤǓत अͩĐयाशील है। यह 

ͧशफ के अͧभकम[क के साथ भी अͧभͩĐया नहȣं करता है। हाइĜोआयोͫडक 

अàल कȧ अͬधकता के साथ ǐरÝलÈस पर, (A) केवल एक काब[Ǔनक उ×पाद 

(B) पैदा करता है। जलअपघटन पर, (B) एक नया यौͬगक (C) उ×पÛन 

करता है िजसे लाल फॉèफोरस और आयोडीन के साथ अͧभͩĐया ɮवारा 

(B) मɅ पǐरवǓत[त ͩकया जा सकता है। पोटैͧशयम परमɇगनटे के साथ 

ऑÈसीकरण पर यौͬगक (C) एक काबȾिÈसͧलक अàल (D) देता है। इस 

अàल का तुãयाकंȧ ġåयमान 60 है। 

i) What is compound (A)?      1 

यौͬगक (A) Èया है? 

ii) What is the number of carbon atoms in compound (D)? 

          1 

यौͬगक (D) मɅ काब[न परमाणओुं कȧ संÉया Èया है? 

Or 

अथवा 

Write the name of compound (D).    1 

यौͬगक (D) का नाम ͧलͨखए।  
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iii) What is compound (C)?      1 

यौͬगक (C) Èया है? 

iv) Draw structure of compound (B).    1 

यौͬगक (B) कȧ सरंचना बनाइए।  

32. Read the passage given below and answer the following 

questions: 

नीच ेǑदए गए गɮयाशं को पढ़Ʌ और Ǔनàनͧलͨखत Ĥæनɉ के उƣर दɅ: 

Nucleic acids are the polymers of nucleotides which in turn 

consist of a base, a pentose sugar and phosphate moiety. 

Nucleic acids are responsible for the transfer of characters 

from parents to offsprings. There are two types of nucleic 

acids — DNA and RNA. DNA contains a five-carbon sugar 

molecule called 2-deoxyribose whereas RNA contains ribose. 

Both DNA and RNA contain adenine, guanine and cytosine. 

The fourth base is thymine in DNA and uracil in RNA. The 

structure of DNA is a double strand whereas RNA is a single 

strand molecule. DNA is the chemical basis of heredity and 

have the coded message for proteins to be synthesised in 

the cell. There are three types of RNA — mRNA, rRNA and 

tRNA which actually carry out the protein synthesis in the cell. 

ÛयÈूलȣक अàल, ÛयूिÈलओटाइडɉ के बहुलक हɇ जो एक ¢ारक, एक पɅटोस 

शक[ रा और एक फ़ाèफ़ेट अधाɍश स े ͧमलकर बनता है। ÛयÈूलȣक अàल 

जनक से संतǓत मɅ गणुɉ के èथानांतरण के ͧलए िजàमेदार होते हɇ। 

ÛयÈूलȣक अàल दो Ĥकार के होते हɇ- DNA तथा RNA। इनमɅ से DNA 

मɅ पाँच काब[न परमाण ुवाला शक[ रा अण ुहोता है िजस े2-डीऑÈसीराइबोस 
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कहते हɇ, जबͩक RNA मɅ राइबोस शक[ रा होती है। DNA  तथा RNA  

दोनɉ मɅ ऐडनेीन, Êवानीन तथा साइटोसीन ¢ारक होते हɇ। चतुथ[ ¢ारक 

DNA  मɅ थायमीन तथा RNA मɅ यूरेͧसल होता है। DNA  कȧ सरंचना 

ɮͪवरÏजुक ɮͪवकंुडलनी है जबͩक RNA  कȧ सरंचना एक रÏजकु कंुडलनी 

होती है। DNA आनवुांͧशकता का रासायǓनक आधार होता है तथा इनमɅ  

ͩकसी कोͧशका मɅ Ĥोटȣन संæलेषण का कोͫडत संदेश होता है। RNA तीन 

Ĥकार के होत ेहɇ- mRNA, r-RNA तथा t-RNA, जो ͩक वाèतव मɅ एक 

कोͧशका मɅ Ĥोटȣन सæंलेषण करते है।       

i) Write full form of DNA.      1 

DNA का परूा नाम ͧलͨखए। 

ii) What is the name of the linkage joining two nucleotides?

          1 

दो ÛयिूÈलओटाइडɉ को जोड़ने वाले आबÛध का नाम Èया है? 

iii) What is ‘r’ in r-RNA?       1 

r-RNA मɅ 'r' Èया है?  

iv) How many hydrogen bonds are formed by cytosine with 

guanine in DNA?       1 

DNA मɅ Êवानीन के साथ साइटोͧसन ɮवारा ͩ कतन ेहाइĜोजन आबÛध 

बनते हɇ? 

Or 

अथवा  

How many oxygen atoms are present in 2-deoxyribose 

sugar?          1 

2-डीऑÈसीराइबोस शक[ रा मɅ ͩकतन ेऑÈसीजन परमाण ुमौजूद होते 

हɇ? 
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33. Three electrolytic cells A, B, C containing solutions of ZnSO4, 

AgNO3 and CuSO4, respectively are connected in series. A 

steady current of 1.5 amperes was passed through them until 

1.45 g of silver deposited at the cathode of cell B. How long 

did the current flow? What mass of copper and zinc were 

deposited?          5 

ZnSO4, AgNO3 एव ंCuSO4 ͪवलयन वाले तीन वैɮयुतअपघटनी सेलɉ A, 

B, C को Įेणीबɮध ͩकया गया एवं 1.5 ऐिàपयर कȧ ͪवɮयुतधारा, सेल B 

के कैथोड पर 1.45 g ͧसãवर Ǔन¢ेͪपत होने तक लगातार ĤवाǑहत कȧ 

गई। ͪ वɮयुतधारा ͩ कतने समय तक ĤवाǑहत हुई? Ǔन¢ेͪपत कॉपर एवं िजकं 

का ġåयमान Èया होगा?     

Or  

अथवा  

The electrical resistance of a column of 0.05 mol L–1 NaOH 

solution of diameter 1 cm and length 50 cm is 5.55 × 103 

ohm. Calculate its resistivity, conductivity and molar 

conductivity.         5  

0.05 mol L–1 NaOH ͪवलयन के कॉलम का ͪवɮयुत ĤǓतरोध 5.55 × 

103 ohm है। इसका åयास 1 cm एवं लंबाई 50 cm है। इसकȧ 

ĤǓतरोधकता, चालकता एव ंमोलर चालकता का पǐरकलन कȧिजए।   

34. List various types of isomerism possible for coordination 

compounds, giving an example of each.    5 

उपसहसंयोजन यौͬगकɉ के ͧलए संभाͪवत ͪवͧभÛन Ĥकार कȧ समावयवताओ ं

को सूचीबɮध कȧिजए तथा Ĥ×येक का एक उदाहरण दȣिजए। 

Or 
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अथवा  

Write down the IUPAC name, indicate the oxidation state, 

electronic configuration, coordination number and magnetic 

moment of the complex K4[Mn(CN)6].    5 

संकुल K4[Mn(CN)6] का IUPAC नाम ͧलͨखए एवं इसके ऑÈसीकारण 

अवèथा, इलेÈĚॉǓनक ͪवÛयास, उपसहसंयोजन संÉया तथा चुंबकȧय आघणू[ 

को दशा[इए।  

35. An organic compound (A) (molecular formula C8H16O2) was 

hydrolysed with dilute sulphuric acid to give a carboxylic acid 

(B) and an alcohol (C). Oxidation of (C) with chromic acid 

produced (B). (C) on dehydration gives but-1-ene. Write 

equations for the reactions involved.      5  

एक काब[Ǔनक यौͬगक (A) (आणͪवक सğू, C8H16O2) को तनु सãफयूǐरक 

अàल के साथ जलअपघǑटत करने के उपरांत एक काबȾिÈसͧलक अàल   

(B) एवं एक ऐãकोहॉल (C) कȧ ĤािÜत हुई। (C) को Đोͧमक अàल के साथ 

ऑÈसीकृत करने पर (B) उ×पÛन होता है। (C) Ǔनज[लȣकरण पर Þयूट-1-

ईन देता है। अͧभͩĐयाओ ंमɅ ĤयÈुत होने वालȣ सभी रासायǓनक समीकरणɉ 

को ͧलͨखए।       

Or 

अथवा  

Predict the products formed when cyclohexanecarbaldehyde 

reacts with following reagents:      5 

साइÈलोहेÈसेनकाबȶिãडहाइड कȧ Ǔनàनͧलͨखत अͧभकम[कɉ के साथ 

अͧभͩĐया से बनने वाले उ×पादɉ को पहचाǓनए: 
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i) PhMgBr and then H3O+ 

PhMgBr एव ंत×पæचात ्H3O+ 

ii) Tollens’ reagent 

टॉलेन अͧभकम[क  

iii) Semicarbazide and weak acid  

सेमीकाबȶज़ाइड एवं दबुल अàल  

iv) Excess ethanol and acid 

एथेनॉल का आͬधÈय तथा अàल  

v) Zinc amalgam and dilute hydrochloric acid 

िज़कं अमलगम एव ंतनु हाइĜोÈलोǐरक अàल   

 

 

 

 

 

 

 



1 
 

BSEH MARKING SCHEME 

CLASS- XII   Chemistry (March-2024)  Code: B 

 The answer points given in the marking scheme are not 

final. These are suggestive and indicative. If the examinee 

has given different, but appropriate answers, then he should 

be given appropriate marks. 

Q. 

No. 

  Answers Marks 

1. c) µg/mL 1 

2. b) 0.9% (mass/volume) NaCl 1 

3. b) Anode 1 

4. c) mol L-1s-1 1 

5. c) Zn  1 

6. a) KMnO4 1 

7. d) 6 1 

8. b) cis-platin 1 

9. c) 3-Chloropropene 1 

10. c) Phenol  1 

11. c) 4-Nitroanisole 1 

12. b) β-D-Glucose 1 

13. a) 51 1 

14. b) Vitamin C 1 

15. a) Both A and R are true, and R is the correct 

explanation of A.  

1 
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16. d) A is false but R is true. 1 

17. b) Both A and R are true, and R is not the correct 

explanation of A 

1 

18. d) A is false but R is true 1 

19. The properties which depend on the number of solute 

particles irrespective of their nature relative to the 

total number of particles present in the solution are 

called colligative properties.  

(1 mark) 

Examples: (1) relative lowering of vapour pressure 

of the solvent  

(2) depression of freezing point of the solvent  

(3) elevation of boiling point of the solvent  

(4) osmotic pressure 

(Any two, ½ mark each) 

2 

 

 

 

 

 

 

 

 

 

 

20. Given:  

c = 0.20 M 

κ = 0.0248 S cm–1 

molar conductivity 

௠ 
 =  

𝜅 ×  1000

 𝑐
 

(½ mark) 

௠ 
 =  

0.0248 ×  1000 

0.20 
 

2 
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(½ mark) 
௠ 

 =  124 S 𝑐𝑚ଶ 𝑚𝑜𝑙ିଵ 
(½ mark for answer, ½ mark for unit) 

 

Or 

Given 

Production of Al from Al2O3 has a reaction as 

following: 

Al3+ + 3e-  Al 

(½ mark) 

i.e. production of 1 mole of Al (27 g) from Al2O3 

requires electricity =   3 F 

or production of 1 g of Al from Al2O3 requires 

electricity = 3/27 F 

(½ mark) 

So, production of 40 g of Al from Al2O3 requires 

electricity = 40/9 F 

= 4.44 F 

(½ mark for answer, ½ mark for unit) 

21. concentration of reactants & pressure in case of 

gases, temperature, and catalyst. 

(½ mark each) 

2 

22. In the first transition series, Cu exhibits +1 oxidation 

state very frequently.  

(1 mark) 

2 
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It is because Cu (+1) has an electronic configuration 

of [Ar] 3d10. The completely filled d-orbital makes it 

highly stable. 

(1 mark) 

23. tert-butyl bromide < sec-butyl bromide < isobutyl 

bromide < n-butyl bromide 
2 

24. Carboxylic acids lose carbon dioxide to form 

hydrocarbons when their sodium salts are heated with 

sodalime (NaOH and CaO in the ratio of 3:1). The 

reaction is known as decarboxylation.  

(1 mark) 

𝐶𝐻ଷ𝐶𝑂𝑂𝑁𝑎 
ே௔ைு & ஼௔௢,   ∆
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ  𝐶𝐻ସ + 𝑁𝑎ଶ𝐶𝑂ଷ 

(1 mark) 

Or  

Addition products formed by the reaction of aldehydes 

and ketones with hydrogen cyanide (HCN) are known 

as cyanohydrins. 

(1 mark) 

 
(1 mark) 

2 

25. i) p-nitroaniline, Aniline, p-toluidine 
(1 mark) 

ii) NH3, C2H5NH2, (C2H5)2NH, (C2H5)3N  

2 
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(1 mark) 

26. Positive Deviation Non-

Ideal Solutions 

Negative Deviation Non-

ideal solutions 

1. Those liquid-liquid 

solutions which has 

vapour pressure more 

than expectations from 

Raoults’ law. 

1. Those liquid-liquid 

solutions which has 

vapour pressure less 

than expectations from 

Raoults’ law. 

2. The molecular 

interactions of solution 

is weaker than that of 

solute and solvent. 

2. The molecular 

interactions of solution 

is stronger than that of 

solute and solvent. 

3. ∆𝑉௠௜௫ > 0 3. ∆𝑉௠௜௫ < 0 

4. ∆𝐻௠௜௫ > 0 4. ∆𝐻௠௜௫ < 0 

5. They form minimum 

boiling azeotrops. 

5. They form maximum 

boiling azeotrops. 

(Any three, 1 mark each) 

3 

27. For a first order reaction: 

𝑡 =  
2.303

𝑘
𝑙𝑜𝑔

[𝑅]௢

[𝑅]
 

(½ mark) 

Using this we get: 

𝑡ଽଽ  =  
2.303

𝑘
𝑙𝑜𝑔

100

1
 

3 



BSEH Marking Scheme Class: XII March-2024 
 

6 
Chemistry  Code: B 
 

(½ mark) 

𝑡ଽଽ  =  
2.303 × 2

𝑘
 

(½ mark) 

Also  

𝑡ଽ଴  =  
2.303

𝑘
𝑙𝑜𝑔

100

10
 

(½ mark) 

𝑡ଽ଴  =  
2.303

𝑘
 

(½ mark) 

Now 
௧వవ

௧వబ

మ.యబయ ×మ

ೖ
మ.యబయ

ೖ

 

𝑡ଽଽ

𝑡ଽ଴
= 2 

(½ mark) 

Or 

Consider the reaction, R   P is zero order reaction. 

𝑅𝑎𝑡𝑒 = − 
𝑑[𝑅]

𝑑𝑡
= 𝑘[𝑅]଴ 

(½ mark) 

 
⇒  𝑅𝑎𝑡𝑒 =   − 

𝑑[𝑅]

𝑑𝑡
= 𝑘 

 
⇒    𝑑[𝑅] = −𝑘𝑑𝑡 

Integrating both sides 
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[𝑅] =  −𝑘𝑡 + 𝐼        ………Eq. 1 

Where I is the constant of integration 

(½ mark) 

At t = 0, the concentration of the reactant R = [R]0 , 

where [R]0 is initial concentration of the reactant. 

(½ mark) 

Substituting in above equation 1 
[𝑅]଴ =  −𝑘 × 0 + 𝐼 

[𝑅]଴ =  𝐼 
(½ mark) 

Substituting the value of I in the equation 1 
[𝑅] =  −𝑘𝑡 + [𝑅]଴ 

(½ mark) 

 
⇒    𝑘 =

[𝑅]଴ − [𝑅]

𝑡
  

This is the integrated rate equation for a zero-order 

reaction. 

(½ mark) 

28. i) ability to adopt multiple oxidation states 

ii) ability to form complexes.  

iii) transition metals utilise outer d and s electrons for 

bonding. This has the effect of increasing the 

concentration of the reactants at the catalyst surface 

and also weakening of the bonds in the reacting 

molecules.  

(1 mark each) 

3 
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29. i) Freon-12 is used for aerosol propellants, 

refrigeration and air conditioning purposes. 

ii) Carbon tetrachloride is used in the synthesis 

of chlorofluorocarbons and other chemicals, 

pharmaceutical manufacturing, and general 

solvent use. 

iii) Iodoform can be used as antiseptic.  

(1 mark each) 

3 

30. i)  

A: CH3CH2CN 

B: CH3CH2CH2NH2 

C: CH3CH2CH2OH 

(½ mark each) 

ii) 

A: C6H5NH2 

B: C6H5N+
2Cl- 

C: C6H5OH 

(½ mark each) 

Or 

i) Ethylamine is capable of forming hydrogen bonds 

with water as it is soluble but in aniline the bulk 

carbon prevents the formation of effective hydrogen 

bonding and is not soluble. 

(1 mark) 

3 
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ii) A Friedel-Crafts reaction is carried out in the 

presence of AlCl3. But AlCl3 is acidic in nature, while 

aniline is a strong base. Thus, aniline reacts with 

AlCl3 to form a salt and benzene ring is deactivated. 

Hence, aniline does not undergo the Friedel-Crafts 

reaction. 

(1 mark) 

iii) Gabriel phthalimide reaction gives pure primary 

amines without any contamination of secondary and 

tertiary amines. Therefore, it is preferred for 

synthesising primary amines. 

(1mark) 

31. i) ether or C2H5OC2H5 

(1 mark) 

ii) 2 

(1 mark) 

or 

Ethanoic acid 

(1 mark) 

iii) C2H5OH 

(1 mark) 

iv) CH3CH2I 

(1 mark) 

4 

32. i) Deoxyribonucleic acid 

(1 mark) 
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ii) Phosphodiester bond 

(1 mark) 

iii) ribosomal 

(1 mark) 

iv) 3 

(1 mark) 

or 

4 

(1 mark) 

33. The reactions occurring in cells A, B and C 

respectively are as following: 

Zn2+ + 2e- Zn 

Ag+ + e-  Ag 

Cu2+ + 2e-  Cu 

(½ mark) 

In cell B: 

108 g of Ag deposition requires charge = 96500 C 

1 g of Ag deposition requires charge = 96500/108 C 

1.45 g of Ag deposition requires charge =  
ଽ଺ହ଴଴ ×ଵ.ସହ

ଵ଴଼
 𝐶 = 1296 C 

(½ mark) 

⸪ Q= It 

⸫ 1296 = 1.5t 
 

⇒ t = 863 s 

(½ mark for answer, ½ mark for unit) 

5 
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In cell A: 

2 x 96500 C charge deposits Zn = 65 g 

1 C charge deposits Zn = ଺ହ

ଶ ×ଽ଺ହ଴଴
 𝑔 

1296 C charge deposits Zn = ଺ହ ×ଵଶଽ଺

ଶ ×ଽ଺ହ଴଴
 𝑔  

(½ mark) 

= 0.438 g 

(½ mark for answer, ½ mark for unit) 

In cell C:  

2 x 96500 C charge deposits Cu = 63.5 g 

1 C charge deposits Cu = ଺ଷ.ହ

ଶ ×ଽ଺ହ଴଴
 𝑔 

1296 C charge deposits Cu = ଺ଷ.ହ ×ଵଶଽ଺

ଶ ×ଽ଺ହ଴଴
 𝑔  

(½ mark) 

= 0.426 g 

(½ mark for answer, ½ mark for unit) 

 

Or  

Given  

Length of cell (l) = 50 cm 

Diameter of cell = 1 cm 

Resistance (R) = 5.55 x 103 ohm 

Concentration (c) = 0.05 mol L-1  

 

So area of cell (A) = πr2 = 3.14 x 0.5 x 0.5 cm2 

= 0.785 cm2 

(½ mark) 
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Resistivity (ρ) = ோ஺

௟
=  

ହ.ହହ × ଵ଴య ×଴.଻଼ହ

ହ଴
  

(½ mark) 

= 87.135 ohm cm 

(½ mark for answer, ½ mark for unit) 

Conductivity (κ) = ଵ

ఘ
=  

ଵ

଼଻.ଵଷହ
 𝑆 𝑐𝑚ିଵ 

(½ mark) 

= 0.001148 𝑆 𝑐𝑚ିଵ 

(½ mark for answer, ½ mark for unit) 

Molar conductivity(Λm) =  
఑ ×ଵ଴଴଴

௖
=

଴.଴଴ଵଵସ଼ ×ଵ଴଴଴

଴.଴ହ
 𝑆 𝑐𝑚ଶ𝑚𝑜𝑙ିଵ  

(½ mark) 

= 229.6 𝑆 𝑐𝑚ଶ𝑚𝑜𝑙ିଵ 

(½ mark for answer, ½ mark for unit) 

34. (a) Geometric isomerism: 

This type of isomerism is common in heteroleptic 

complexes. It arises due to the different possible 

geometric arrangements of the ligands. For example: 

 

(b) Optical isomerism: 

This type of isomerism arises in chiral molecules. 

Isomers are mirror images of each other and are non-

superimposable. 

5 
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(c) Linkage isomerism: This type of isomerism is 

found in complexes that contain ambidentate ligands. 

For example: 

[Co(NH3)5 (NO2)]Cl2 and [Co(NH3)5 (ONO)Cl2 

Yellow form                 Red form 

(d) Coordination isomerism: 

This type of isomerism arises when the ligands are 

interchanged between cationic and anionic entities of 

different metal ions present in the complex. 

[Co(NH3)6] [Cr(CN)6] and [Cr(NH3)6] [Co(CN)6] 

(e) Ionization isomerism: 

This type of isomerism arises when a counter ion 

replaces a ligand within the coordination sphere. Thus, 

complexes that have the same composition, but 

furnish different ions when dissolved in water are 
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called ionization isomers. For e.g., Co(NH3)5SO4)Br 

and Co(NH3)5Br]SO4. 

(f) Solvate isomerism: 

Solvate isomers differ by whether or not the solvent 

molecule is directly bonded to the metal ion or 

merely present as a free solvent molecule in the 

crystal lattice. 

[Cr[H2O)6]Cl3  (Violet) ,[Cr(H2O)5Cl]Cl2⋅H2O (Blue-

green) [Cr(H2O)5Cl2]Cl⋅2H2O (Dark green) 

(Any five, 1 mark each) 

Or  

Name: Potassium hexacyanomanganate (II)  

(1 mark) 

oxidation state: +2 

(1 mark) 

electronic configuration: [Ar]3d5  

(1 mark) 

coordination number: 6 

(1 mark) 

magnetic moment of the complex:  
𝜇 =  ඥ𝑛(𝑛 + 2) 

=  ඥ1(1 + 2) 
=  √3 

= 1.73 BM 



BSEH Marking Scheme Class: XII March-2024 
 

15 
Chemistry  Code: B 
 

(½ mark for answer, ½ mark for unit) 

35. Organic compound A is an ester as on acid hydrolysis 

it gives a mixture of an acid and an alcohol. 

(½ mark) 

Oxidation of alcohol (C) gives acid (B). Hence, the 

number of carbon atoms in (B) and (C) are the same. 

(½ mark) 

 

Ester (compound A) has eight C atoms. Hence, both 

carboxylic acid (B) and alcohol (C) must contain 4 C 

atoms each. 

(½ mark) 

Dehydration of alcohol C gives but-1-ene. Hence, C 

must be a straight chain alcohol, i.e butan-1-ol.  

(½ mark) 

Reactions: 
𝐶𝐻ଷ𝐶𝐻ଶ𝐶𝐻ଶ𝐶𝑂𝑂𝐶𝐻ଶ𝐶𝐻ଶ𝐶𝐻ଶ𝐶𝐻ଷ + 
      ௗ௜௟.  ுమௌைర    
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ 𝐶𝐻ଷ𝐶𝐻ଶ𝐶𝐻ଶ𝐶𝑂𝑂𝐻 + 𝐶𝐻ଷ𝐶𝐻ଶ𝐶𝐻ଶ𝐶𝐻ଶ𝑂𝐻  

(1 mark) 

𝐶𝐻ଷ𝐶𝐻ଶ𝐶𝐻ଶ𝐶𝐻ଶ𝑂𝐻 
      ஽௘௛௬ௗ௥௔௧௜௢     
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ  𝐶𝐻ଷ𝐶𝐻ଶ𝐶𝐻 = 𝐶𝐻ଶ  

(1 mark) 

𝐶𝐻ଷ𝐶𝐻ଶ𝐶𝐻ଶ𝐶𝐻ଶ𝑂𝐻
      ஼௥ைయ/஼ுయ஼ைைு     
ሱ⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯ሮ 𝐶𝐻ଷ𝐶𝐻ଶ𝐶𝐻ଶ𝐶𝑂𝑂𝐻 

(1 mark) 

 

Or 

5 
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i) 

 
(1 mark) 

ii) 

 
(1 mark) 

iii) 

 
(1 mark) 
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iv) 

 
(1 mark) 

v) 

 
(1 mark) 
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